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Amendments are to be included.
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Part A ‘
)8 Y Pavwe all sty on thin giestion paper itvell,
\ A B )
A (hake the valoe of g a7 )
W 1
- Lo 1o estimated that six men will take eight days to pamt the walls of o house, 1w requied

o complete this Gk in thive days, low wany more men nead o be engaged”?

| T ———— ')\
Amount of work = 6 X 8 mandayy e |

L Pt the manmitude of B8 based on the intormation e
the tigme.

K L /

P w——

oy
Y, () e P, A
ARC = A \ (,._-!9.\__4.'{._._“

01

” T Sru
Ao Smpluty: -1"_ ' 0“ i

t 10 ?
—_—
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TR T T

of a nght posm with o tiangular ¢ross section,
(1) Square (i) _Rhombus () Rectangle

& Based on the information in the given pre chaet, o0 the number
of students who stwdy Deama & Theatre 1s 30, how many students
study Daneing?

Number of students studying dancing = 105 @

Cental angle of the sector bl B
representing dancing

6. (2 s the centre of the given cirvle. The chord 18 is bisected by D
the struight limne POC, Find the magniude of CDR .

30° @

ACD =90° or BCD = 90° or ABD = 600~ |

7. Find the factors: 207 - I8 : ) e
j ':. N A ) LARR) =" ; n\L.\"- \
2x = 3) (x +3) @
2x*-9) 1 i
I
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8. Taking that 10" < 4 34, find the value of lg 43.4

@

43.4 = 1096375 x 10 —1

IfIM si1aded ysed

1.6375

i
i 9. In the given figure, AB 1s a vertical tree and there 15 a bird at point 4. There
oA 15 a child at point €. Moreover AC is honzontal, If the child observes the "33 B
\ bird with an angle of clevation of @ and the bird observes the child with
. an angle of depression of b°, represent these angles in the figure. Write the
| relanonship between a and b. (Disregard the height of the child,)

Marking both a degrees and b degrees in the figure —————— @

‘ Y e ﬂ=b m C A

e . . i e i

10. The height of a solid right circular cylinder is three times its base radius 7. How many times
" of the paint required to paint only the base is needed to paint the curved surface of the
cylinder completely? (The area of the curved surface of a solid right circular cylinder of base
radius r and height h 1s 2arh.)

6 times @ (i)

-' . Area of the curved surface = 2nr (3r)

| b 4 or 1
Area of the base = nr?

11. Find the probability of obtaining 10 as the sum of the two digits on the face that falls downwards
when an unbiased tetrahedral die with its four faces marked as 1, 3, 5, 7 is tossed up twice.

« A HL;"
f?.v.f*ftsu«h o e o
__3_ @ T cee &'.c.-t}-ﬂ.--n —_ @
16

¢,

Cerreck Coovdlankes —

12. Find the value of x based on the information given in the figure.
Here, ABC is a straight line.

b

x= 60°————Q

ADB = 40° or DCB = 40° 1

40°

13. If ¢ = {Integers between 0 and 7). .
A = {Prime numbers between 0 and 7},
B™= {Multiples of 2 between 0 and 7},

select and underline the correct statement from the statements given below,

(1) AUB=¢ TS ) 6.-&3\*-—-#\
(h) ANB= (2.4} " “*-_'\‘3_

- (ii) mA)=3

I )}
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P U R 0 MR L1 S0 = VPRI JUE U SIS FRPIP] Lty DID LS CooPIeeL - L .,
4 Simphify: de! < 2 - Ky
K3 20T AR S TR @
4
Ixt x 2y PPN p— 1
fixy
18, The second term of a geometnie progression s 6 and the thind term s 12, What s the titth
term of this progression? £ aie V<4 A
ar=-6or ar® = «120r r = 2eeee O
|
-48 — NI ¢ ) )
Lﬂ ‘ 1"|\
P BT W D T IR Yo N Lo
16. A cyclic quadrilateral ABCD is shown in the figure  A0DC 1

isected by BD. The side A8 is produced to 2. Find the magnitude
of CBE, based on the information in the figure.

. 64°

BDC = 32°or ADC = 64°or ADC = CRE -1

17, Find the least common multiple of the following algebraic temms:
6, Sav, 2V

v Ubiag R SEVIT SRS O
301’2)!2 (v} : | ‘ i
¥. '\\ Cava s W0 ¢ .Y (N iTin b i
6x2 =2X3Xx XX T I
Sxy=5Xxxy aaainiil &
2y'm2xyxy

1 (All three written as products of factors should be correct)

18. ‘The area of the triangular cross section of a right prism is 616 ¢m’. The volume of a rght
circular cylinder of the same height os the prism, and base adius #, is equal 1o the volume

of the prism. Find the value of » in centimetres, (The volume of a right circular eylinder ol
base radius » and height & is xr7h.)

mixh=616xh —Q@

r=14 @

-— S — — - - ——

19, Tiilc midpoints of the sides AB and AC of the given

L) I‘
triangle ABC are D and F respectively and ADE ~ 90°,
ri5¢ the perimeter of the quadnlateral BCED in
centimelres, dem-
18 cm @ b
DE =3 cm or AE = 5cm 1 :
or AC=10cm ¢
I 6em J
L - - ——— -~ - "
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M et the ¢ ety il th -.ll.’n{.‘}d Pipw st favan T ough e jn'uﬂ 4 Gyund it Yn tha Cartesian
| ara VR . \ oy O ’o.’.
’" ] —;‘" ('nmxdfc u-r-n-nm-»um (/4 -.ll .
2 ' \ -J ] L ) " )
”~

ylly ——ee T LCp D)

A e centre of the ynm cinde 4 f.‘. Mmmrﬂ. ABCE 44 3
! ol bogram and AGHER W ¢ straght Line, Fid the magnitude
ol DS based on the nformaton 16 the figue.

—Q

l"‘ U B e D R —————

DA = 70" or ADE = 90° or CRE » 70—

2 Vamana depesited a r.rmrh pnonnt of money for teo yeans in & hoance company that pays
areanmmsh anterest rate of 107, with the aterest gamppotnded annually. The interest that she
seconved for the sccond year only 14 060 mupees and the total amount she recerved at the end
ol Bwo vears 18 7200 vupees. Vind the amonnt she deposited. g 9260

R, 6600 or 7260 % 22 % 12 v i ;'_!;3 iae
o 1107 110 '
s, 6000 (1)

e A W m e sgsi e emm e Smi | mcmm A g L W e § Em—— e b - e —

‘2!. I the mmmu:c 1 me unur and AC I B0 Find the magnitwle of Afp.

ALD = 105° v/}

* CHD = 70°or ADI} = 35¢

e —

21, band rhc negative lntcgnl mluucms of the ump.ullly s > 2

r i o P . - (éd".
r TP S P o
| 3x > -9 (1)} RO e . ~——\P)
j ~1 and ~2 (1)

N T EpEm———

25, ,IM is an acute tnangle as gisen m the figure. This mcompl:u.
sketch has been drawn o Iind the centre O of the cirgle thw
touches the side AB at the point [ and also touches the side AC.
Uang the knowledge on loci, complete the sketch and mark 0.

Drawing a perpendicular AD at 3 Q

e e ——————

Marking O on the angle biscctor outside the triangle —— 1

!

q’- 1 F 1\' iy
24 _ "\ I ",\CJ (61 |
w1\ It pncod
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Part B
Answer all questions on this question paper itsclf.
L. Janaka pays income tax of 6% on the amount that he eams above 100000 rupees, when his monthly
salary 1s more than this amount. In a certain month, he puts aside for food, -:; of the amount he
received after paying the tax. He puts aside % of the remaining amount for other expenses.
o (1) What fraction of the amount Jar;nka reccived remains after he puts aside % of 1t for food?
|
) 1-2
5 S ®
(i) What fraction of the amount he rm:ﬁncd remains with Janaka after he puts aside an amount
al
N [orsfoog and Fornllx;upcn_m. e Yy i ; .S-'\?: w0
g:; ;x; cmaining fraction = 1-- (E+E) . e
¢ gLy - X R ©)
g 6 2 b3
(iii) If the amount that remains now is 39600 rupees, find separately how much he received
after paying the 1ax and how much he put aside for food.
! ; 3 —» Rs. 39600
1= Amount reccived } _ T pmountsctaside )~ Rs. 118800 x%
p. aerpayinglax | _ Rs. 118800 ——— 1 = Rs. 19800 1 @
O (1v) What was his salary before paying the tax? ¢ ¢
949 of the amount on which tax is charged = Rs. 18800 ssalary = Rs. 120000——1
Amount on which tax is charged = Rs. 18800 x —-—:‘:" 1 @
= Rs. 20000
(v) At some stage. due to the limit over which income tax is charged being increased, if
Janaka doesn’t have to pay tax. and if the amount he spends on food remains the same .
as before, how much does he now spend on food as a percentage of his salary? /1—0\
19800 @ 10
- + 10
156000 100% = 16.5% 1+1 \ o
2. (@) Saman travels from his home to a friend’s home L oy s w0 .
in 30 minutes, at a uniform speed. He spends LR b ke SR Ll B a S s T
30 minutes at his friend’s home and retums to his+ 391 . ...l L il il
home along the same road in 45 minules, travelling & e : ' ;
; E2357¢ b 4=
at a uniform speed. S '
) e o e
(i) An incompletc distance-time graph drawn to E;S _____ ;
represent this information is shown here. Complete 2 ' - A
the graph based on the above information.1 +1 © 10 ¢- RS i
(i) Find the speed at which Saman travels back -7 R S S - ol
home, in kilometres per hour. 0 === ‘ —_— =
31./5‘_ BRI et | Time (hours)
4
= 20km h-*————1 @
(h) This figure consists of a semicircular part AEB of diameter
28 em and a rectangular pant ABCD, with the length of BC
equal to 77 cm.
"'“‘""l (i) Find the perimeter of this composite figure. 77cm
1 i
ETEJ' Mfm] ArclcnglhofAB=-z-72—x14=44cm————— 1 b
' /i\ " Perimeter =77%x2+28+44=226cm —— 1+1 B @
Gy
P (ii) How many times of the area of the semicircular pan
is the arca of the rectangular pan? %
A
Arca of the rectangle =77 x 28 cm?
Area of the semicircular part =§ X 3?3 x 14 x 14 —_1 A~
77x28 10
US> 1 O} L
(v} 277 10/
30 = 7 times R . W
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Lo Roanad sonted his Tewse Lu g vedr ot ¥(AW) ngsed por mwonth and olaged (he I-lii‘. RTTEY T

A vigle paymwnt The artan wounal b which e heww Il has assca
of the bowse o L3000 pupges and charges 18% G o vear o4 raten
............. |

o Mow fouch bay w be pand @n rates for the bouse bor the yer! Rs. 12000 x 100
= Rs 2160 —— |

S b o) salue

@

) 1 of e amoat obtained by icoing the house B spert oa bowse mantenuce Now
Pasch norey remais with Kamal alter payisg the males and spending o mamtenaned?

Maintenance cost &= Ha 0000 x 12 X T%% - |

o Ha, 9600
T'otal cost = Rs %00_1.2160 — |
“ Ry 11760 @
Remamder = Rs. 96000 ~ 11760
= Rs B4240 |

i) Now Kamal wdds o cerain amount 10 the amount rensining with him, and invests 1t to
by S0 rupee shares of a company The company pays antual dividends of 2 50 rupees per
tare He recelves 6000 rupees as the dividend (ncome st the end of a vear

Wi How many shares did Kamal buy?

6000
T 2400 1

(by Wate the extra amoviit Kamal added o fuvest in ﬂn:.imq\m). as a pereentage of the

®

T
(#)
1o

total amount be invested in the company 1€ ayoe2 i B
Amount invested inshares = Ry, 50 % 2400 = I(l. 120000 """'@ val e hv
Lixtra amount = Re. 120000 ~ BA240  rowrrranty
= Rs. 35760 1 @
Extra amount as a percentage = %%%% x100% ————1
= 20.8% 1
r-__ "
4. A lrequengy polygon and an incomplete grouped frequency table drawn based on the marks
obtained by a group of students for a test are given below. In this table, the interval 10 20
denotes 10 or more than 10 and less than 20
'“"h Number | Cumulative | NUmPer of studeats
e S5 SladeR |, (rOQRENCY
m m 20 20 o]} Dot D M 437 1 T { |
B s i BB - aiens FOR I rouE NGGE BV |8 AT M DS S L) 8
00| o [ 6 27777 '
lrm.so 0 A0, W 3 i :
i — I - - .
{ $0-60 an.. 190, | :
60 - 90 Y AT | fier .
‘1-. - 48 .._._5.?.'.’_._.-._ .2.5.0.——-—113 - . l :
1+1+1 10 \ bl
20 R— Bt
0 § I
4 bad oM.
. L
0 10 20 30 40 % 00 70 80 9 100 Marks
(1) In the table, K in the blanks in the column denoting the number of students, according
W the frequency polygon. @
(i) On the given frequency polygon, draw the huistogram correspanding 1o these marks.
30~ 50 column 1
60 - 90 column 1 @
Remaining columns 1
() Complete the cumulanve frequency colamn in lhl table @
; (v) Find the probability of A sudent picked at random fiom this group o studeats beng |
¢ v ,‘,,‘k . wreons who bas obluned 50 marks or more enl ‘ L} _,\(:1
anse Y '\ Number of students who got 50 of more marks = 130 ——— 1 Pt o
v et \\
alk on
VUL o Probabiliy of geting S0 ot moremarks =220 ——— 1 (.L'?' jp." on @
c“;ﬂ'\n‘ | \ 1 ”
'f.‘\\ﬁ- “ﬁull-&lalhmll«lhlsrhl-g&kﬂtl [r..c.r.cm‘) Examlaation 20!4(315]] Ameadments Lo be Iacluded 91 26
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& In a school, for a cenain sport, there are four boys and a girl i the grade 10 team and two
boss and three girls i the grade 11 team. For the first round of a compention between the
o teams. a child from grade 10 and a child from grade 11 are picked randomly.

(; _-r: T Ik ‘f
s (O T O SR o ﬂ. —_

3 G- X

g ! :

c 5‘ n--!--a*u 1 ”‘. !

”. """""'i.""a:" ..o "l

Eaaw
| B, B. B, B, G,

Grade 10

(1) By considenng that the boys are denoted by 8, B,. B, B, B B, and the girls are denoted
by G,, G, G, G, mark the sample space relevant to randomly prcking two children on
this gnd with the symbol *X",

(n) On the grid, encircle the event of exactly one boy being picked for the first round of the
competition and find its probability. Encircling —1 @

Probability = 32 ———2
(1) [tis given that when the two participants in the first round of the compelition are selected in

the above manner, if exactly one of the two is a bay, the probability of Grade 10 winning
is Iiﬂ and if cither both are boys or both are girls, the probability of Grade 10 winning is
i:ﬁ . Accordingly, write the relevant probabilities on the branches of the tree diagram given
below, 10 predict whether Grade 10 wins or not.

Picking the Result of the competition
competitors i
10 Grade 10 winning
Only one being
a boy 1
.I% Grade 10 not winning
3 Grade 10 winning
10
Both being boys or 1
both being girls
7
10 Grade 10 not winning @

(iv) Calculate the probability of Grude 10 not winning in this competition round.

1 7 161 -
l’!.x:i +t = X= == 1+1+1 'w\k .-
25 10 25 10 250 B
Lo |
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from 2 finance company for a year at anlpur;h..sc with the amount and interest o be |
| annual simple interest and the television set! pard in 12 equal monthly instaliments. Here, the

A stock of televieon sers worth 84 000 rupees each s avarlable for sale, The method used by Ruvind
!u buy a !clnis'mn set and the method used by Manel 1o hu} another television set is given below,

B S ———— e e - ———

Ruvink: A foes of &4 000 rupees 18 wkea | Manel. The televiston set 1s bought on hlrcl
!

|is bought. At the end of the year, the loan nterest s caleulated on the reducing balance. |
{15 settied by paying the loan amount and  When the payment of the instaliments is completed |
| interest of 10920 rupees in a year, the same total interest of 10920 rupccsi
| i that 15 paid by Ruvini has been paid 3

————

Find separately the annual interest rates at which !hc interest 1s paid by the two of them and
show that the annual interest rate charged i the hire purchase method 1s more than the annual
interest rate charged by the linance company.

Question ;
Number Marking Scheme Marks Other details
Intcrest rate paid by Ruvini  _ 10920 10920 1000 | !
for a year = 84000
= 13% 1
Value of an installment _ 84000 I
without the interest T 12
1
=Rs. 7000
: 12 i
Number of month units = (12+1)
|
= 78
> 10920 1
Interest for a month unit ~
=Rs. 140
140
The annual interest rate that = Z=e X12x100 % 1
Mancl pays ST
= 24% !
Since 13% < 24% . ;
the interest rate charged in the higher purchase
method is more than the interest rate charged by the
finance company
el Casei o _Ead N M
s lamente Ne el e @
Qos>ax 70 ;.;...‘_-. =78 = 1o92=
loa V2
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Lo An pcomplete table showsng the voaslucs comespending o soverad vvalies of o guadetic
function of the sorm v geo within the iteeval - 2 oov <4 b piven below

i \ 178 a0l i
\ $ 1.0 192 141 " g
] | i | i
(I conadenmg the symmetry of e guadratic Tunction find the saloe of ¢ when o 2

>
M —
ha
-—
-
Sl
-
|

() Uising the standard syetem of aves and o sutable soale, deaw the graph of the guadeati
function on the piven graph paper, according o the lable yiven abine

) () Write the coordinates of the two paiots of intersection of the graph and e vy

(Fy By conmdenng the coordimates ol the two pomts mentioned o the ahove pan, wile
the given quadiatic Tunction in the Tonm v (v p)ie )

(v) Lt us tabe that the Dine v |oantersects the graph at the poims 4 and N
() Wiite the iterval of values of v on which y - |

th) Obtain the length of A8 1o the nearest st deamal place

e T —— e e ———

‘ in\_ﬂun Q
Nembe L1500 50 ARORBHCMER: o ,,___,_’F‘;‘f,“'_‘ I USSP .
2 |4 The value of y - 3 N0
(ih Correct scale 1
5 correct points 1
Smooth curve 1 l@
(iii) [ (@) | (~1,0) and (3,0) 1"
0 | y= =G+ 1) (x=3) N0
fonly one value and
(iv) | @) | =07 <x<27L01) I+ incquality s correet, L
@ mark__
(b) | Lengthof AR = 3.4 (40.2) units 1 bl 5.1 al
\ Vel
bBm (CLeoay - ('_") A L.'—;- -
oty £Q ) eni (06 )
A8
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In a competition, the competitors had 10 run up an inclined
plane, climb up a vertiwal ladder and then shide down another
inclined plane. The side view of the two inclined planes and
the vertical ladder used for this are denoted by AC, DE and
CD respectively in the figure, Here, ABE is a horizontal plane,
1C- BE=50m. CAB - 26" 1, BCD is perpendicular 0 ABE,
and DC - BC.

Copy the given figure 1n your answer script and inclede the

given information in . L
Using trigonometric ratios, show that the difference between
the incline of DE (that is DER) and the incline of AC (that 1s CAB) is more than 15
g:f,::: Marking Scheme Marks | Other details
3. D
For correctly
marking
26°10"' —1
S50m — 1
(Indicating 50m in
both place places
14141 or indicating
equality of the
two lengths with
50 m indicated in
In A ABC, one place)
BC
sin 26°10' = — 1 DC = CB and
a6 90° 1
50 x 0.4410 = BC ke iy L.
»BC=2205m 1
In A DEB,
DB
tan DEB = —
BE - N 5
_ 2X22.05 14 Y AR T
3 TR AL, e 4 =2
= 0.8820 :
DEB = 41°25' 3 A
Difference between  _ .o 00 o040y
DEB and CAB =41° 25’ - 26°10
= 15°15
5 TTY 1T ""24
Since 15° < 15°15’ A t e
the difference between the incline of DEand the | 1 § e |
incline of AC is more than 15°,
32 - Mathematics (Marking Scheme) | G.C.EAOL) Examination 2024(2925) | Ameadments 1o be facladed 32
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(ii)

(x+1)2=124 +)
x+1= +V125
x+1= 15V5

x = =1+5vV5 (+x>0)
= =-1+5(2.24)
x=10.2cm

“«x =10cm

Length of longest side
of the top

= 2V2xcm
Length = 2(1.41)(10)cm

= 28.2 cm

Since 28.2 > 28 the length of the longest side is

greater than 28 cm.

= J(2x)* + (2x)? }

@)

o

A 1. &ix o
2674 &

ety AL
~ O\
\

—

-f\("\"‘ﬁ i

4. The top of a birthday cake is in the shape of a right
angled isosceles triangle. Its two equal sides are of length
2x em each. As shown in the figure, the words ‘HAPPY
BIRTHDAY" arc written on a rectangular picce of white HAPPY
icing of length (x+ 2)cm and breadth (x -4) em, The BIRTHDAY | *
remaining portion is decorated in pink and is of area x+2
132 cm’.
(i) Show that x satisfies the equation &° + 2y~ 124 =0 and find the value of xto the nearest
centimetre. (Take the value of V5 to be 2.24)
(i1) Show that the length of the longest side of the top of the cake is_given by 2V2x and
show that this length is greater than 28 em. (Take the value of J2 to be 1.41)
Quecstion 5 g Other
Number Markl.n;: Scheme Marks del3lls
4. | () Arca of the right angled = .1. X 2x X 2x
triangle 2
= 2s
63
Arca of the rectangle =(x+2)(x—-4)
=x2-2x-8 B
x= % AT o
o 2x—(x*-2x-8) =132 @ T
a
x3+2x—124=0 } A e
Velae —\§)

32 - Mathematics (Marking Scheme) | G.C.EL(01.) Kxamination 2024(2025) | Ameadnsents to be included
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€, Packs of 10 small plates cach and packs of § large plates cach were bought 10 serve swectmeats
o the aduits and children who sttendod a panty. The pnce of a pack of small plates was
150 rupees and the prce of 3 pack of large plates was 120 rupees. The wotsl number of plates
that were bought was 200 and the total cost of these plates was 3720 rupees.

(1) By taking the number of packs of small plates bought as x and the number of packs of
large plates bought a5 y, construct 4 pair of umultancous equations and by solving them,
find separately the nmomber of packs of small plaies and the sumber of packs of large
plates that were bought,

(1) Each small plate had the some number of sweetmeats and cach Jarge plate had two

sweetmneats more than a small piate. If the 1otal number of sweetmeats that were senved
was 1160, find the number of sweetmeats that 2 small plate had

5
g:f:;‘:: Marking Scheme Marks | Other details
5. | () P i
w0x+sy=200 —— (@) ‘ g
5 t 4 ! -
150x + 120y =3720 —— (2) ' b Jan
r_a“‘: ol
LR ol T
()15 150x 475y =3000 —— () e
;)-r
@D sy=m0 ;
y=16 1
Substimlingy=16in®
10x+5 x 16 = 200 1
10x = 120
x=12 i
Number of packs of small plates =12 :[
Number of packs of large plates =16 ;
(ii) Let us take the number of sweetmeats on a small
platcas n v
o 1200 —1
120n + (n + 2)80 = 1160 i {r« (= +2)80-1
= L |
n=>5 l_ ; @
Number of sweetmeats on & small plate is 5. ]
i
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(1) Find the mean numh:r of times the theee-wheeler was hired a week
(n) How many hires can the three-whecler dnser expect in total in 52 weeks?

6, Vhe frequency table goven below provides information related to the number of hres a cenam
llucc-a heeler engaped m each week

ey ee— -‘---..-—-,-.--

591

- — m———

30 4

———— e A ————

-

e I S ———

(i) Let us take that the average ditance of 4 bire 15 Sk, If the three-wheeler driser charged
a fec of 100 rupees per kilometre, what can he expect as lus income for four weeky?

(iv) What is the minimum number of times the three-wheeler may have been hired i wwl
in the weeks in which the numbes of umes it was hired was less than 207

35-39 |

&
-

Mcan number of hires per week = ——

30

Question Other
Number Marking Scheme Marks details
vy -l mr
0. on' 4 Vo
Numbsr Numlxcr Mid value [x Lge
of hires of wocks (x) —
U} VA L e
5"‘) I 1 7 froaen J[':--f- L] :
10-14 3 12 36 vr dbelte = 1
15-19 |4 17 63
20)-24 6 22 132 x column —1
2529 |5 27 135 i
3539 | 4 37 148 g
21 ) fx =750
= 30 Yfr=70 —
()
750

Dividing by 30

i 1T,

| 28 ©®
(ii) | Number of hires in 52 weeks =25 x52 — 2 prwey
'/G-hr
= 1300 1 @ —~7
(iii) | Expected income for 4 weeks =4 %25 % 100 %5 |1
= Rs. 50000 1 @
(1v) | Minimum number of hires =1x5+3%104+4x 15
=95 ! @ 1
31 Mathemsties (Marbieg Scheme) | GLEL00.) Fuamination 20242025) | Amesdeents ts by Incladed 35*—

B e R TY

CS CamScanner



[ parvmasd of T Limbuta og ConfeSertia /

T A

enly o strwight edge with o cmomm scale and o pair of compasses for the following
prometoe controctions. The construction lines should be clearly dravn

() Comiruct a stimght hine scpment AB of length fom Construct an angle of 66 at B on
AR and bisect ot

) Comatract the varcetes matiple ABC such thae AR (€ andd AHe 10
{1y Construct the perpendicular bsector of AC Comtruct a seoncircle on the ade A0, outsede
the tmanele ARC, such that AC s dinmeter,
() Comtruct w stenght e through A parillel o B¢ wuch that ot intersects the womiorche
w0, and yoan €D,
(v) What o the magmtude of 1Wno
[ Question [T n;.:mu;;;;:: Marks Other details
__Number_ SR < s S L AR )
7. (i) | Constructing A8 |
Constructing 60° |
Constructing the angle bisector ? @
(1) | Completing the correct triangle ABC 1 @
iii) | Contructing the ndicular biscctor of AC No marks for the
(iii) g the perpe A 2 -
Contructing the correet semicircle corresponding | 1 @ :'::c"“ O aother
to the correct AC
(iv) | Contructing the straight line through A parallcl |
to BC O |
(v) |ACD = 60° 1 @
I Mt (Markiog Seheme) |G KA ) sambnation MIOUI | Amcodments e tmcleded 3§
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In the fgurc, ANCD 1 a0 pasllclogram F

wh than HF - ll D Nere, the bise 1 prdud imatts the Liog FE peodaed ot 4 s the

fire A1 prnduned meets the line ] prduced ot

Copy the ghan Bgae mopour dmswet senp

(1) St thet DRGE = Add e

(d boan BF and GC and give rcasomn sly BCCF w2 paralielogrem,
(i) Show thyrt ADFH and ABGE are oqatangular,

() Show thay D1 :.!l"

s Ihw ||--"‘l|l'll of 8 and F v 3 PORL i L]

?qucslion Marking Scheme Marks Other details
umber
H
8. A
D mf’ ™ (
A B q
(1) |Inthe As BGE and CFE
BE = EC (Datum) Give marks.
BEG = FEC (Vertically opposite <s) SIEE.S’L';“:D"W{O :
BGE = CFE (Altemnate ¥s) e
« ABGE = ACFE (AAS) ) Roaod =1
(ii) | In the quadrilateral BGCF,
BG // FC (*AB /DC)
BG = FC (~CongruentAs)
Therefore BGCF is a parallclogram
(Pair of opposite sides is parallel and equal) @
(iii) | In A DFH and A BGE
DAF = BEG (Corresponding «s) I:_l":m I mark
HED = EGB (Corresponding <s) :cas;:?::co:
HDF = EBG (Remaining «s) @ given in at least
~ ADFH and A BGE are equiangular one place
OF o
Giv) | DH  DF AP RAE BE
BE = BC BE &E &4
DH 3 0¢
A ol o 2
2BC  3DC @
DH = % AD (+BC=AD)
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. Nine small sohid metal right pyramuds, cach with a square base of side length @, and beight 2o,

are melted and a solid nght arcular exlinder of base radius » and height 3r 18 made without
any wastage of metal.

) £
Show that a - ;r.

If 7 = 1728 cm, by waking x - 314, find the value of ¢ using the loganthms table and obtain
the side length ¢ of the base of a pyranud 10 the nearest centimetre

From a solid cuboid with a square cross section of side length @, and haght 20, 1§ onc small
pymamid wilh the above menthoned measurements is cut and removed, find the velume of metal

that s remaimng. (Use the above obtnned valve of a)

Question Marking Scheme Marks Other details
Number
19 Volume of a pyramid = %xaxaxZa
_w
oo g
Volume of the cylinder = nir? X 3r
= 3nr?
. af28’) 243
~9 S ) = 3n: }
&
3 =
ey
3 314 x(1725)?
2
lga® =1g(1.57) +31g1.725 For two correct ;
logarithms ——1 b
= 0.1959 + 3(0.2367) fh 3ol
z = 0.1959 + 0.7101 ? « 935 2 86-B%)
a - 0- 3°2' qu _— |.
= 0.9060 [ R
~ a® = antilog (0.9060)
= 8.053 or 8.054 .
a3 - R f
=2
Volume of the cuboid =2a? _-
Remaining volume of metal = 2a® — _::- (2a%) i
L s o AR
16 -j % =3
2 = 4
gtk T =3 x (@)
=10.67cm' or 105 em’ A
4
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10, Amala and Sumana docide 1o read a cenan novel dunag the holidays  Aisala weads 20 pages
on the hiest day and on cach day thercaiter she reads thiee pages more than the previons day
() Write the numiber of pages that Amala reads on the 19 270 and 3™ days fpecingly
(m How many pages does Amala read on the 10% day !
i 1 she completes the nove) on the 16™ day, how many pages does the nvel consist ol
(v) How pany pages does Sumana read on the st day 10 she takes 17 days 1o complete
the novel and 11 on each day after the first, she reads 4 pages mowe than the previous
day?
(v) I the o of them stated reahing the novel on the same day, on which dav do they
both read the same number of pages?
Question T o ,”" 67 SRR
Number B e
10. | 20,23, 26 N0
() In=at (n-Dd ! For the formula o
Tis =20+ (16-1)3 for sabstitating — |
<65 IO
T n ' y 4\ \J \ i
(i) Ssco=(ath (i)
. ':.ak\\l'"\ "L :
16 {
sm__:.(zug_(é) 0 PPN Y _0 e\
-8 x 85 ;
&% C®
(iv) 8 =3 2a+(n-1)d)
17
680 - — (2a+(17-1)4) | For the formuls o
2 For suibwtiiunng — I]I
a=8 1 @
1 ) ‘ " \'\
(V) Suppose they both read the same number of pages 3
’ [t ® "
on the n th day, gt R
§ -..l‘l ¥ '
20 ¢ (n=1)3 {8} (=14 1 (¢
204 In-3=8 tdn 4
n=13 | ®
The two read the same number of pages on the 13 th 10
day j
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1. In the given Bgure, AB s 3 dumeter of the arcle a
with centre € 2ad €D v 3 dord which s bisected \
st X by 48 Moraner, CP w peapendiculer o PR, v
the angent to the cicle at 4 c - Y/
Copy the wyen figure in your 2nvwer wmipt and jom { A 0
e g
(i) Show that PANC o 3 cyche guadnlstensd and that [
the chord AC bisests FCO. \I
(1) Staic with reasnas two angles which are eqazl to L
DR q g y R
Question "
Number Marking Scheme Marks Other details
8
11. l Figwre with OC
1 joed —— 1
C - X D
\ )
\
P * b R
(i) ARC = 90° (Line joining the midpoint of the chord | 141 For ARC = 901
CD to the centre is perpendicular to the chord) Reason ——1
L5 { | CPA = 90° (Given)
g = 0KC +CPA = 180°
% 5_:.:" - g = PAXC is a cyclic quadrilateral !
ol B (Opposite angles are supplementary)
o ']
1 o Jl O0AP = 90° (Anglc between the radius and tangent) | 1
< 0AC = 0CA (v0A=0C) 1
~ 0AP + APC = 180°,4B//PC 1
= 0AC = ACP (Altemate 4s) } : Reduce one mark
=~ ACO = ACP (Axiom) (s) if the reason is
not n one
= PCO is bisected by CA . ple;mﬂ:
(ii) DAR = ADC (PR//CD, Altemate <s) ol tw
DAR = ACD (Angle in the altemate segment) angles with
o o -3 reason
DAR = CAP (= ACD = CAP) 141 @ ¥
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12, An incomplete Venn diagram with information on 100 customens who came (o a certain store
1s shown here,

— Those who bought tish

Those who bought ¢pgs ~——— ome I‘hus" who bought lenuls

(shaded set)

14 customers did not buy fish, lentils or cgus. 60 customers bought lennls
Copy the given figure 0 your answer senpt and enter the given information in

(1) How many customers bought exactly one ol the three stems fish, cges and leatils?

(in If the number of customers who bought all these three items s equal to the number of
customers who bought exactly two of these itemis, how many customers bought all three
items?

(1) If the number of customers who bought only eggs and lentils 18 wice the number of
customers who bought only fish and lenuls, how many customers bought eggs and lenhls?

(1v) If the number of customers who bought fish is 52, how many customers bought only

eggs?
Question Marking Scheme Marks Other
Number details
12.
T—] '
——p [ whe Dought fishy
Thime wha bupht epxs ..-.-.--< ((» 4 f— Thine wha booagha leaids
) (hadad sat)
~ 7]
Copying the figure
Marking 100, 60, 14 correctly H+1+1 @
; P 2 marks cven if
@ | 100 - (60 +14) : @ only 26 written|
=26 . T ot &1 fytes
(ii) |30 I @
(iii) | 20 + 30 | onlsg AnTpet
=50 1 ® ! ( zﬁ\
] . .
(iv) | Number that bought only fish = 52 — (30 + 10) ::)' k::lﬂt:um |
=12 ! marked in the !
fig \
Number lhal Bom_,hl only e8Es 73 A Thanerpb o
. ‘Al PAPERy |® | \
\ VVIINI )
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